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CHAPTER OUTLINE:

I.
Introduction  
A.
Definition of Performance Reporting

B.
How Variances are used in Performance Analysis

II.
Cost Classifications

A.
Relationship of Cost to Volume of Activity

1.
Variable cost

2.
Fixed cost

3.
Mixed cost

B.
According to a Time-Frame Perspective

1.
Controllable cost

2.
Noncontrollable cost

III.
Performance Reporting

A.
Characteristics of the Performance Report

1.
Column headings

2.
Variances

a.
Reasons for reporting variances

b.
Management by exception principle

3.
Issues in the design of performance reports

B.
The Flexible Budget

1.
Required to have a meaningful performance report

IV.
Analysis of Standard Cost Variances

A.
Components

1.
Quantity variance

2.
Cost per unit of input variance

B.
Favorable/Unfavorable Label

1.
Arithmetic difference relative to budget

2.
Label not necessarily synonymous with "good" or "bad"

CHAPTER OUTLINE (continued)
C.
Name of Variance Related to the Input

1.
Raw materials-- price and usage
2.
Direct labor-- rate and efficiency
3.
Variable overhead-- spending and efficiency
D.
General Model for Calculating Variances

E.
Variance Calculations Illustrated

F.
Analysis of Fixed Overhead Variance

1.
Difference in fixed overhead from a planning perspective versus a control perspective

2.
Budget Variance

3.
Volume Variance

G. Accounting for Variances

V.
Analysis of Organizational Units

A.
Reporting for Segments of an Organization

1.
Segments are responsibility centers

a.
Cost center

b.
Profit center

c.
Investment center

2.
Hazards of arbitrary allocation of common costs

3.
Direct and common fixed expenses

4.
Segment margin

B.
Analysis of Investment Centers

1.
Using the DuPont Model for separating ROI into margin and turnover

2.
Concern about suboptimization when exclusively using ROI

3.
Using the Residual Income Model

C.
The Balanced Scorecard

1.
Organization wide planning and performance measurement system

2.
Focus is on four key perspectives

a.
Financial perspective

b.
Customer perspective

c.
Internal business process perspective

d.
Learning and growth perspective
TRUE/FALSE:
____
1.
Performance reporting involves the comparison of budgeted and actual results, with the objective of highlighting unfavorable departmental variances so that the appropriate managers can be blamed and reprimanded.

____
2.
Responsibility reporting is a technique used to filter cost information contained in performance reports to each manager within the organization at an appropriate level of detail or summarization.

____
3.
Noncontrollable fixed expenses associated with the production function should be allocated to each producing department based upon square feet occupied.

____
4.
Operating income for the company as a whole may be reduced when a segment is disposed of, even though that segment has consistently shown losses.

____
5.
The allocation of common fixed expenses produces arbitrary results and inaccurate cost information that can lead to improper decision-making.

____
6.
The cost of your professor's salary is a common fixed expense of this course (in relation to the other courses that he/she teaches), but a direct fixed expense of operating the business school (in relation to the other segments of the university).

____
7.
A flexible budget differs from a static budget in that it does not consider fixed costs.

____
8.
If the actual level of activity is different from the budgeted level, a flexible budget is prepared for the actual level.

____
9.
Quantity variances are explained by two factors: the difference between standard and actual quantity of the input used, and the difference between standard and actual cost per unit of input.

____
10.
The direct labor efficiency variance measures the difference between standard hours allowed and actual hours worked, at the actual rate of pay.

____
11.
Personnel managers (as opposed to production supervisors) would be more interested in direct labor efficiency variances than direct labor rate variances.

____
12.
Unfavorable direct labor rate variances occur when more labor hours are required to complete a job (or batch of production) than are allowed at standard.

____
13.
The difference between standard and actual cost per unit of input is measured by the raw materials price variance, or the direct labor rate variance, or the variable overhead spending variance, depending upon the cost element under investigation.

____
14.
Favorable direct labor efficiency variances are sometimes accompanied with unfavorable direct labor rate variances, especially when the firm employs a more skilled work force than was contemplated in the budgeting process.

TRUE/FALSE (continued):
____
15.
Although the net variance for a cost element (i.e., direct labor) may be immaterial in amount, its components may each be material, but offsetting (i.e., favorable direct labor rate and unfavorable direct labor efficiency).

____
16.
Some firms compute the raw materials price variance at the time the materials are purchased, rather than when they are used in production.

____
17.
The fixed manufacturing overhead volume variance represents the difference between budgeted and actual fixed expenditures for the period.

____
18.
If the net of all variances is immaterial relative to the total production costs incurred during the period, the net variance is treated as an adjustment to cost of goods sold.

____
19.
If an individual is to be held accountable for the results of an activity, that individual must also have the authority to influence those results.

____
20.
All costs are controllable by someone in the organization at some point in time.

____
21.
Suboptimization occurs when an investment center manager rejects an opportunity to invest in a project that would increase the ROI of the company as a whole but would lower the investment center manager's ROI.

____
22.
The DuPont model allows managers to focus their attention on maximizing an amount of earnings above a minimum required ROI.

EXERCISES:
1.
The Suny Company manufactures quality audio equipment.  For the month of May, the budget for the speaker department was prepared for the production of 20,000 speakers; actual production for May was 18,000 speakers.  The original budget and actual costs incurred for the speaker department follow:

	
	Original
	Actual

	
	Budget
	Costs

	Raw materials
	$   800,000
	$   756,000

	Direct labor
	300,000
	252,000

	Variable Overhead
	100,000
	72,000

	Fixed Overhead
	     100,000
	     106,000

	    Totals
	$1,300,000
	$1,186,000


Prepare an appropriate performance for the speaker department.

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


2.
Williams, Inc., extracts a rock-chalk substance from its quarry to produce life-like statues of legendary sports heroes.  The company uses a standard cost system, applies variable and fixed overhead to production on the basis of direct labor hours, and has a production capacity of 60 statues per month.  Williams, Inc., has established the following standards for each statue produced:

	
	Standard
	Standard
	Standard

	
	quantity
	price/rate
	cost

	Raw materials
	30 pounds
	$14 per pound
	$420

	Direct labor
	20 hours
	  11 per hour
	220

	Variable Overhead
	20 hours
	    3 per hour
	60

	Fixed Overhead
	20 hours
	    2 per hour
	    40

	
	
	
	$740


During the month of May, the following activity was recorded:

· Extracted 1,810 pounds of rock-chalk from the quarry at a total cost of $24,797.

· Used 1,740 pounds of rock-chalk to produce 55 statues.

· Worked 1,180 direct labor hours a cost of $12,508.

· Incurred $3,658 in variable overhead costs and $2,650 in fixed overhead costs.

Calculate the following variances for the month of May:

	a.  Raw materials price 

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	b.  Raw materials quantity

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	c. Direct labor rate

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	


EXERCISES (continued):

	d. Direct labor efficiency

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	e. Variable overhead spending

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	f. Variable overhead efficiency

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	g. Fixed overhead budget

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	

	h. Fixed overhead volume

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________


SOLUTIONS

	True/False

	
	
	
	
	

	1.
	F
	
	12.
	T

	2.
	T
	
	13.
	T

	3.
	F
	
	14.
	T

	4.
	T
	
	15.
	T

	5.
	T
	
	16.
	T

	6.
	T
	
	17.
	F

	7.
	F
	
	18.
	T

	8.
	T
	
	19.
	T

	9.
	F
	
	20.
	T

	10.
	F
	
	21.
	T

	11.
	F
	
	22.
	F


Exercises

	1.
	
	
	
	
	

	
	
	Original Budget
	Flexed Budget
	Actual
	

	
	Item
	(20,000 units)
	(18,000 units)
	Cost
	Variance

	
	Direct Materials………
	$   800,000
	$   720,000
	$   756,000
	$36,000 U

	
	Direct Labor …………
	  300,000
	 270,000
	252,000
	18,000 F

	
	Variable Overhead……
	100,000
	   90,000
	72,000
	18,000 F

	
	Fixed Overhead………
	   100,000
	   100,000
	   106,000
	  6,000 U

	
	Total …………………
	$1,300,000
	$1,180,000
	$1,186,000 
	$ 6,000 U

	
	
	
	
	
	

	
	Note: The flexed budget amounts for variable expenses are calculated by multiplying the original budget amounts by 0.90 (18,000 units / 20,000 units).  An alternative approach would be to compute the variable costs per unit based on original budget amounts (i.e., DM = $40, DL = $15, and VOH = $5).  Per unit costs are then applied to actual activity to determine flexible budget amounts.  Fixed expenses do not change as activity changes, so the fixed overhead amount is not flexed.


2.
a. Raw materials price variance = (Standard price ─ Actual price) * Actual quantity =  ($14.00 ─ $13.70) * 1,740 = $522 F    Calculation: Actual price = $24,797 / 1,810 = $13.70
Note: Many firms compute the raw materials price variance at the time of purchase based on the quantity purchased (or extracted, as here) rather than at the time of use based on the quantity used.  For Williams, Inc., the purchase price variance would be computed as: ($14.00 ─ $13.70) * 1,810 = $543.
b.
Raw materials quantity variance = (Standard quantity ─ Actual quantity) * Standard price = (1,650 ─ 1,740) * $14.00 = $1,260 U    Calculation: Standard quantity = 55 units * 30 pounds per unit = 1,650
SOLUTIONS (continued)
Note: The budget variance for raw materials is the sum of $522 F and $1,260 U = $738 U.
	
	Actual costs (1,740 pounds * $13.70)  …………………………………………
	$23,838

	
	Budgeted costs (55 units * 30 pounds * $14.00) ………………………………
	23,100

	
	Budget variance…………………………………………………………………
	$    738 U


c.
Direct labor rate variance = (Standard rate ─ Actual rate) * Actual hours =  ($11.00 ─ $10.60) * 1,180 = $472 F   Calculation: Actual rate = $12,508 / 1,180 = $10.60
d.
Direct labor efficiency variance = (Standard hours ─ Actual hours) * Standard rate = (1,100 ─ 1,180) * $11.00 = $880 U   Calculation: Standard hours = 55 units * 20 hours per unit = 1,100
Note: The budget variance for direct labor is the sum of $472 F and $880 U = $408 U.

	
	Actual costs (1,180 hours * $10.60) ……………………………………………
	$12,508

	
	Budgeted costs (55 units * 20 hours * $11.00)…………………………………
	12,100

	
	Budget variance…………………………………………………………………
	$    408 U


e.
Variable overhead spending variance = (Standard application rate ─ Actual rate) * Actual hours = ($3.00 ─ $3.10) * 1,180 = $118 U   Calculation: Actual rate = $3,658 / 1,180 = $3.10
f.
Variable overhead efficiency variance = (Standard hours allowed ─ Actual hours) * Standard rate = (1,100 ─ 1,180) * $3.00 = $240 U   Calculation: Standard hours = 55 units * 20 hours per unit = 1,100
Note: The budget variance for variable overhead is the sum of $118 U and $240 U = $358 U.
	
	Actual costs (1,180 hours * $3.10)  ……………………………………………
	$ 3,658

	
	Budgeted costs (55 units * 20 hours * $3.00) …………………………………
	  3,300

	
	Variable overhead budget variance ……………………………………………
	$   358 U


The direct labor and variable overhead efficiency variances are both unfavorable.  The direction of these variances is the same because 80 direct labor hours were worked in excess of budget (1,180 ─ 1,100).  The dollar amounts differ because the standard rates for direct labor and variable overhead differ ($11 as opposed to $3).

g.
Fixed overhead budget variance = Budgeted costs ─ Actual costs = $2,400 ─ $2,650 =     $250 U   Calculation:  Budgeted costs = 60 units at capacity * 20 hours * $2 per unit =  $2,400

h.
Fixed overhead volume variance = Applied costs ─ Budgeted costs = $2,200 ─ $2,400 = $200 U   Calculation: Applied costs = 55 units * 20 hours * $2 per hour = $2,200

SOLUTIONS (continued)
Note: The unfavorable budget variance of $250 represents the additional costs actually incurred during the period, as compared to the budget estimate.  The $200 unfavorable volume variance represents an estimate of the opportunity cost of operating at less than full capacity.  Since only 55 statues were produced, the fixed costs were not spread across as many units as management had hoped (capacity of 60 units).  Yet, the $200 volume variance was not the result of spending any additional dollars.
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